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In the diagram above, the values of the areas Al, A2, and A3 bounded by the graph of f(x)and
the x-axis, are 7, 5, and 8 square units respectively. f(x) has zeros at -4, -0.6, 3, and 6.5.

_ Calculate the following definite integrals:

A [fwd = -p7 = {_ 5|

il

Al-41 +43 = T7-5 +8 = [Io]

6.5
B. j Fx)dx
-4

Il

C. ]-f(x)dx

3 .
_jpmc‘f = - [4:4;4 - = [1-51= = () 'E]

- =06

D. -Tf(x)dx— if(x)dx+jf(x)dx = Al +A1 + A3 = T4C+ 8 __,
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2. The graph of f (x) is made up of line segments and semi-circles as shown in the graph below.
Evaluate A—E. '
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A. Find the total area bounded by the graph of f(x) and the x-axis.
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3. The graph of f(x)is made up of line segments and semi-circles as shown in the graph below
Evaluate A —E.
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A. Find the total area bounded by the graph of' f(x) and the x-axis.
Lty Loyt + L L loy(e) = /Wt + o
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B. } F(x)dx
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C. j Fx)dx
-9

D. T f(xja’x 1’ /:*-'!t + \S;[

E. IO—jf(x)dx = J]O—p :@
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4. Evaluate the following by appealing to geometry.

1 el 6
A [(x-2d by = A B. [-4dx ’J ‘ -—n
-2 y ' qil:j‘s—:- I_-l_;_:\-l_3 * | 1 = "'(3-"1)

i = |—i¥ : .
5. Suppose that fand g are contin S-functions and that ... ‘ [ 5 ?’}

j‘f(x)dx=—4, jf(x)dx=6,and ig(x)dx=8 ‘
1 C 1 1

Evaluate each of the following integrals:

A. jg(x)dx T_E
1 s
B. jg(x)dx - -_SBCX)'%C = !-g !
5 | .
-2 'S
CJ3rwd = 3Ceayd = 3L\ =
prow < i 3y 7
5 | 1 g
D. !f(x)dx. . é‘f(x)a,o+|§;zx>c\< T -|5?f>c>a‘x + ‘?Fm%e = H+b ':—"_
5 r
B [[f)-g@lx = Sregu, T b-% =
-1[ x)—glx ‘S x) 'fgoc)é,c Q ? E’]
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F. ![4f(x)—g(x)]dx = 1(59«)4,&-#59&»;& = ‘f(‘)“g =
| o : .



